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��ก��ก�:= &�%�.QD0��$: �1&�  ก��."�� �=���$:   ��� �ก����%�=��:��:��
����ก+>=� ����=����=�+��
��*�
��30
�  ก��A�1������*���ก.C1ก&=�����=��3"6A��&�.P�%��+�������  �*��&=�ก�� >1�:�1��$�E��G6
�:��./���$������� (*�ก&8) ���0"&ก��$����$"�� !1 �:���
�+��3"6�� ��
�� �� �� 

 

/���DDE��"�"  ก������ 2 ���ก�������ก3���	
������ก��� 
 

 0"&���ก�:�!��3 กก4�5
1
$�
���$�;�3"6$��ก4�5
.$-�.�6������"�5:   !��
889��6�6ก;
1
�����
ก��$�
����%�=��:��
��.P���� 3"6�
���*�0&*�
�� �������6�6 �&�0*&1$�+"� ��%�=��:� 751 
�� �./�!��
889�
%"&��*���
����*� ��
ก4�5E��������./����=��%"��  �:+��1ก��"&�J"����1�&=��*�.�6��G 725 ��กก6*&��(  
3"6�:3J��:��6+ � ก��"&�ก��J"���:ก�����&*1
* ก��$�
��!��
889��:ก 1 !����%�=��:��1: *ก&���.N 2554 �:= 

J"ก�6��$���&D���$���3*1"
��+��!��89��6�6 ���ก��."�� �=��0"��� ;��:��:��G0�-��$-�ก*���=��
�"��"�$-��"�����&�  $��J"���.�6�����:� ��
�=��3"6�":= �."��"�13�*�"�����6 6 �*  
��ก��ก�:= &��:�"%�������ก������ O�P�   5&"�8��(
1��ก
51(  ( SO2) 3"6
�!�������ก
51( ( NOX )  
3"6�:.QD0��$: �1&���ก*�������ก"
��: �1
* !1 �K%�6������*�0&*�
��  �./��
� 

��ก��ก�:=  ก����
��.�6��G+�� ก8J.5>���������ก��� Ft �:��ก;���ก���
8+��J-
��

889�����
��
ก���������*"��$&�%&�E( �� ��
ก��%&'��3��3�ก�����0
ก&�0��* ���ก�� ���(ก�.ก����$�*��
��A��� 
ก"���.�6��������H.N"6ก*�� 50 "
�����  
1
����0
�ก�1ก�����&��&��3"6ก��%&'��!���$�
���:���
�����./�
�&*�&=�� ���$-D�."�� 3"6���"� ����� ��:� >10"&กก����$� ก��%>���������%�=��:�� ������3��  

 
 

-�&��� 5 : 3$1�!��3 กก4�5�6�6 �:��:���$��ก4�5($:31�)�� &�!��
889��6�6  �0���:����$��ก4�5�1��:= *
�0�����-�"�=� ก;�%��6��*�
�����$�*�
�� ��+� �:�1���0
���J���  
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�&=�!��3 กก4�5
� -���"�5: �:��������6�6 3"6!��
889��6�6  A���./�$��0&*0�ก$���&D��
�6 63�ก+��ก�����: ��*��%�
���%���ก��%&'�����$�0ก���0�&ก��%�=��:��&�0*&1$�+"�-$�-" 
�����1: *ก&��:�%�=��:������%�1ก;�����1
* !��3 กก4�53"6!��
889�����ก&� 

 

ก������ก(�����"�����  ������"��!�������ก�����9��	�+## 
 

����*��*"� 2-5 .N�:=  �6�ก�1ก���.":� �3."�+����0D�+���&�0*&1$�+"�3"6�&�0*&1$�-" �%���ก��ก
�*

.$-�ก���./�%�=��:����$�0ก���0�&ก3�������%�1  !1 ก��%&'��+��1�0D��:��6�ก�1+>=�
1
3ก� 

h ก��+ � !��
889��6�6!���:� 2  �%���ก��"&�ก��J"���:ก�����&*���.�6��G 730 MW 5>���6����0
�:
ก��"&�ก��J"���&=�$�=� 1460 MW  5>���6�./�!��
889��:��:+��1�0D��:�$�1�������
 

h ก��+ � !��3 กก4�5 !���:� 2  �6ก��"&�ก��J"���%����:ก�����&* �*�ก��"&�ก��J"���./� 850 "-ก���ก(
8��/*&�   5>���:ก��"&�ก��J"���ก�������ก&�!��3 กก4�5�:������%�1   

h ก��ก��$�
����������=��">ก�6�6 / "6�-  5>���./��������+��1�0D������1: *ก&��������30"�K�&�  �%���
�./����������ก��+�$��$���
�������$��OQR����$����!1 
���
���
��J���$���!.�( 

h �A
8����-� 3"6 ������(�* ( "6�--�6�6 ���������ก��+�$��$���
��60*�����������=��">ก�&=� 2 30��  
h ���$���=���&�3"6�"&��=���&� "6�-/$��0���  �%���+�A�� �=���&�J����6�����J������$����  %�
��

�"&��=���&����OQR�"6�-��%�=��:� 5,000 
���:��:A&��ก;��=���&�+��1�0D� 10"-ก3"6 �"&��=���&���%�=��:�$��
0�����%�=��:� 10,000 
���:��:A&��ก;��=���&�+��1�0D�A>� 50 "-ก 

h �������$�0ก����&=�OQR�$�-"3"6$�+"� �:ก�&=� &��:ก��+ � �&*+��!�������ก����1
*  
h ������(�* ( 0�1�0D�-$6�1�  �%���ก��+�$��$���
�
. &����"�5: 3"6�������.N�&� %�
��ก��$�
��

�������$�0ก��� 990 
���:��
���&�!ก� ������$6�1� 
h !��
889�3"6�0����"�ก
��($6�
� 
�  5>���
�� 
� ������ ����
�  2 ����".�6��ก�ก*�� 20,000 

�� �%������A���0����J"��
889�.9��������$�0ก��� 
h !��A"���0";ก�
��=��3"6���$�0ก����0";กก"���=���:��������6!�1 5>���
���:ก��$�
����������%���+�

A�� 3���0";ก3"6A���0���:���
��ก��A"���0";ก  %�=��:�� ����
�  8,000 
�� �6ก"� ���./�����
���$�0ก����0";ก�:���;�
.1
* �"%�� 

h 0"��+�1���6�=���&��� OQR�$�+"�+������&���*��$��"  5>��.Q����&�
1
�:ก��+�1���6
.3"
*  3"6
�./��:��
��$�$& *���./��
��0��+��$��$:1���"
� �=���&�1���:�"� ��.��.lm����� ����� 0�1�"�1
3�*�&�0*&1$�+"� 

h ก��$�
���+������=�0���%���.9��ก&�ก��ก&1�5�6�� 0�1�"�13�*0�1��� +���&�0*&1$�+"�  3���&*
�+�����:=���ก"&��./��
��0��$���&D�:�����0
�� 0�1%&�  3"6$-D�$: 0�1E��������:�$* ��� 
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h ��ก��ก�:= &��6�
���:ก��$�
�������ก;��=��0����+����+��1�";ก�:ก0"� ��1����
��=�� �%����ก;�3"6���
�=����1����
$�&�$���������$�0ก��� ����!���ก���6���6�� �=��."&ก."�� < �6�6 �&�0*&1
$�+"�  3"6����*�A>�ก��8lm�3�*��1ก��$�
���+����.C1.�ก�6�"$��$�+"� �%���ก������./�����
�=����1+��1�0D�1
* ������� 

 

�&=�0�1�:=ก��"&��6�ก�1+>=����&�0*&1$�+"�3"6$�-" �%����0
�./�
.���������ก��%&'�������
����:�
$��%&'�������ก��3"6$&���30������
1
*��3��3��+��ก��%&'�����
*
  3"60�ก�./������:=����  $�+"�-
$�-"ก;�6�./�%�=��:��:��:�*��%�
����ก������&����$�0ก���0�&ก  3"6�:!�ก�$�:��6�./������%�1 2 ��
������&��ก"
 

 

�"&���1�23ก,������ G ��	�  �����������	
������ก�����
��+����,� 
(�
���%��8(��Hก�"�	-����# +�"�I�D����	
�0%��� 2 �
���%�) 
  

$6%�������ก��0��� landbridge �$
�$�+"�$�-"  5>���:��������=��">ก.�ก���� ������"6�- �&�0*&1
$�-" �./���������0D�OQR��&�1��&�  3"6�:��������=��">ก���&�($�+"�2) �������6�6  �&�0*&1$�+"� �./��������
+��1�0D�OQR����*
�   !1 �:ก�������������������=��">ก�&=� 2 30��1
* ����A
8����-� 5>����
��%���ก��+�$��
$���
� 3"6�:A��+�������A
8�%���ก��+�$��$���
�+
�����$���� 
 $6%�������ก���$
��:=�6�./�0&*��+��ก��%&'�����$�0ก����������
���"��� �%��6��ก��ก
�6�./��$
����ก��+�$��$���
�!1 �0
������: ����$��J�������A
8
.+>=��:ก8�ก0�>�� !1 �:�����$���
�
��
�
���
��J�������3���6"6ก��:��:�*��3��&1$-� �%������
.$�� &�.�6���."� ���  !1 �:�.�6���
� 
1

�ก;����J������3"
*  .�6! ��(�:�$���&D ���ก*�����ก���:�*&�A�1��3"6$���
���ก.�6�������H  �6A-ก�����J"��
�:��:� 0��������.�6ก���%���ก���%����-"����:��:�  5>��������:J-
J"�� �:*&�A�1�� ก;�6�:�������$�0ก����������
�����  3"
*$����ก
. &�.�6�������H
1
�&=�$��OQR��0�$����  
 ����: �ก��%&'�����$�0ก���0�&ก��ก%�=��:������%�1 �&�0*&1�6 �� �:�.Q����&�$��J"ก�6��
���$���3*1"
��3"6��G��%�:*��+��.�6������%�=��:�� ������3��  ก;������
���ก ก��$�
��!��3 กก4�5  
ก��$�
��!��
889�  3"6ก��$�
����������=��">ก����ก&�  5>���./�!���$�
��%�=��:��:�$���&D ���+�����$�0ก���
0�&ก3"6�������$�0ก����:�ก��"&��6�����   

1&��&=� ������:!��3 กก4�5
� ���"�5:   !��
889�%"&��*���
����*��6�6 3"6��������=��">ก�&=� 2 OQR�
�0�$����  5>��������ก&�1
* �6��ก��+�$��$���
�1
* ����A
8����-�3"6A��������(�* (   ����6�./�
%�=�����:�$���&D�:�$�1�:��6�&ก����0
�ก�1���$�0ก���0�&ก3"6�������$�0ก�����%�=��:�$�+"�-$�-"�����
�������� ���3����� 
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�
���%��8(��Hก��ก#���  �����,��������ก���������+��� 
  

��������=��">ก.�ก���� ������"6�- �&�0*&1$�-"  �./���������=��">ก+��1�0D�+��.�6���
�   !1 �:
ก��ก��0�13��ก��ก��$�
���0
A��6�"0�����กOQR���ก
. 4.3 ก�!"����  �%����./�%�=��:��������ก"���6�"
+��1�0D�  !1 �:$6%���:��./�A��  4 �"���������ก�� OQR�
. &��&*�����: �����  3"6�:ก��$�
���+����ก&�
�"���+��1�0D��:��:�*�� �*�&�ก�!"�����60*����������ก&��6�"�.C11
*   ��������=��">ก.�ก�����&�
1
*��
�./�0&*+�*�+��ก���.":� �3."�$-����$�0ก���0�&ก�:��6������:ก0"� !���ก��  0�กก��$�
��
��$����;�
!���ก������Hก;�60 �1�6�&ก
.1
*  

 

 
 

��%�:� 7 : 3$1�3��3."���������=��">ก.�ก���� ���������+�$��$���
�����*���ก�+
���: ����  $���3*1"
��
3"6*�A:.�6��%�=��
��ก;��0�1
.���:�$�1 
   

���!���ก���6 63�ก+���������.�ก����  �6 63�ก�6$�
���������+��1ก*
�� 430 ����  �* 
1,100 ���� 0�����กOQR� 4.3 ก�!"���� �:ก��A��6�"���"����1�A3"6������:�
���ก:� *ก&�.I��&��ก��0�
��:�
.�6��G 600 
�� A��6�"�./�%�=��:�.I��&��ก��0�
����3"6"��*��ก��$���
��:ก 165 
�� �*� 765 
��  �*�
�-"���!���ก��.�6��G 3 0����"
�����   

�+����ก&��"��� 

$6%�� �* 4.3 ก�.��กOQR� 

��������8$1 



 15

.Q����&��� ���ก���>ก��J"ก�6��$���3*1"
��
1
J����*���0;������ก�G6ก���ก��
$���3*1"
��30������3"
* 3���*��ก&�*"�:�$���&D+���$�-"���  ก��������:� *����6�"�6�$: 0� ��ก����
�����ก$���
�����*���ก�:��+
���%�
��ก&��"%��  ก��$-D�$: ���:%+��.�6���� OQR��%��6$&�*(�6�"��� -�

��
1
�&=�  �$: �+��.�6�������";ก���
� �:=ก"&�
��
1
�&��*���$��� 

ก��ก��$�
������������6�"  �6�
���:ก��A��6�"1
* �&=�0��3"6��� ����*���ก  ก��+�1��� 3"6
0����ก��OQR���%�=��:�������"6�- �&�0*&1$�-" 3"6��ก�������&��-�� �&�0*&1$�+"�
.A��6�"����*���ก�6
$��J"�$: ���$�1�" (�&��.��6���+���6�����*�  �*��&=�ก��ก��$�
����������:= &��
���:ก��+���
�:���� ��
30������1
* ��%�=��:�ก*��%&�
��� ���A�*�   �6�����*�����6�"+��0�-��ก�6�6�����3"60�-��ก�6�������
$-D�$: 
.� ���
���:*&��:��6��: กก"&���
1
 ก��������:� *�:��./��� 
1
$���&D+����$�-"�6��� H$��$-D
.
���:�$�1 
 ���3J�ก��ก��$�
����������=��">ก.�ก�����:=  0�กJ".�6ก��ก���./�
.����:�.�6��Gก��
*
  
1

3�����*�ก��ก��$�
�������: ������./� 3 �6 6ก"��*��� 
�6 6�:� 1 ก��$�
��.N 2553-2556  $����A��ก��+�A���$���
�
1
.N"6 825,000 �-
����������(  
�6 6�:� 2 ก��$�
��.N 2559-2561  $����A��ก��+�A���$���
�
1
.N"6 1,375,000 �-
����������( 
�6 6�:� 3 ก��$�
��.N 2564-2567  $����A��ก��+�A���$���
�
1
.N"6 2,475,000 �-
����������( 
 ��ก��ก�:=  �� ��E��$��(ก��%&'��$6%�������ก��$�-"+$�+"�   &�
1
�6��A>��*������./��:��
��
�:�+����$�0ก���$�&�$���3"6���������ก&�������� 
1
3ก� �-�5���0���������� ���$�0ก���5���3"6"
���-
+�
$���
� 5>��3�
*���6 &�
���:ก���6��%�=��:��:��0��6$�  3��ก;�./��:�����1:*���+��:=�*��
��� -���10����ก"
�������
�=��">ก.�ก���� 

��.Q����&���������=��">ก.�ก����  
1
�&�ก���&=����A��3"6ก���&1�
����ก.�6������%�=��:��&�0*&1
$�-"� ���ก*
��+*��  � ���
�ก;���ก�63$ก��J"&ก1&��0
�ก�1+>=��0

1
ก; &��+
�+
������1�� 
 

�
���%��8(��Hก����� 2 �����������"�"��!���#��&�� 
  

$��0�&���������=��">ก$�+"� 2 0�����������=��">ก���&�  �������6�6  �&�0*&1$�+"�2  �./���������=��
">ก��+��1�1: *ก&�ก&���������=��">ก.�ก����  �:"&ก�G6ก����ก3���:��&*�������� -���OQR� 3"6�:$6%��
��: ����� �����ก
.���6�"   

!1 �6�:ก��$�
��+>=��:�����*G�� 0�1�
��$*�ก� ����"���&� �������6�6 5>���./��� 0�1�:� &�
$* ���3"6
���:ก��ก&1�5�6�� 0�1  �0��J"$���&D�:��"��กก��+>=���������:��� 0�1�
��$*�ก�ก;�%��6��

                                                           

2
 +
��-"3"6��%��ก ��ก$��.�6ก��ก��$&���� !���ก���>ก���*���0��6$�1
�������ก�� *��*ก��� 3"6$���3*1"
�� �%���ก��$�
����������=��">ก

�� OQR��6�"���*
� ���"���  �&1!1  $���&ก3J���� ก��ก��+�$������=��3"6%���� (��*:  ��*&��:� 16  ��"��� 2552  G !��3������&��"�%�*�"�":� �
�:� �:$��(� ����������� �&�0*&1$�+"� 
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����*G1&�ก"��*�:�:�1��$�E��G6����*�ก*�� 650 
�� !���ก��1&�ก"��*�:�-"���!���ก���K%�6$�*�+���������
(
���*��6��$�E��G-.!������H) ���6 63�ก��.N 2554-2557 �./����� 6,031 "
�����  3"6�6 6�:� 2 ��
.N 2559-2561 ����*� 5,290 "
����� �*��&=�$�=�  11,321 "
����� 

���&*!���ก���6�:ก��$�
���+����0����=�ก"���6�" �*�"�13�*�������.�6��G 4 ก�!"����  !1 
�:$&��+����$-���ก�61&��=���6�" 4 ����  �%���ก&��"���
���0
��ก*�ก��+�A�� $���
�  �&��6�./�ก�����"� 
$��%3*1"
�����6�"�0
�ก�1�*���$: 0� � ���$�=����� 

�:ก�&=��6�:ก��$�
���+����0����=����3�*�� 0�1 �%���.9��ก&�ก��ก&1�5�6�� 0�1 �&�����������ก
�&*�������1&ก��� 
*
  !1 �6$�
���+����0����=���ก������� �*0"� ก�!"���� 
.�������������� �&�0*&1
$�+"�  5>���6����0
�� 0�1�0"���&=�$-D�$: �*���./��� 0�1E�������
.� ���
���:*&�0*�ก"&� 

��ก��กก��ก��$�
���������3"
*   &��
���:ก��ก��$�
��$�E��G-.!��%�=������*�1
* ก"��*���  
- ก��$�
������A
8��ก$A��:�*��:1 �.�6�6 �+
��� &���������./��6 6��� 30 ก�!"����   
- ก��ก��$�
��A���+
�$-����������ก$:�3 ก�
�����3� �6 6��� 7 ก�!"���� 
- ก���&1A�����0"*�����$�  5004 $� �0�� �%��������:ก 3 ก�!"����  �0
A���
��%�=��:�

������� 
- ก��ก��$�
�����$���=��.�6.�����ก�
������0*&� �* 14 ก�!"���� 
- ก��ก��$�
��$� $��
889�3��$-���ก$A��:
889� �� $�+"� 3 �.�+��-.�
�� �6 6��� 13 

ก�!"���� 
3"63�����*����������=��">ก���&� ����
���:+��13"6�*��$����A��ก��+�$��$���
�����ก&�

��������=��">ก.�ก����  �%����0
$����A+�A�� $���
��60*���$���0�$����
1
  1&��&=��6�"���*
� ����*G
�������6�6 �����������3"6��������%��&�0*&1$�+"�   ����6
1
�&�J"ก�6����1
��ก��.�6��+��
.�6��%�=��
��  �*����1�$��-�G(+��$&�*(�=�����6�"�6A-ก3���:�1
* ����$���
� �����=���&� + 6 3"6 
�$: ���ก*���กก��+�A�� $���
� 

%�=��:�����*G.�ก�"�����&���ก��กก��
1
�&�J"ก�6����ก!��
889��6�63"
*  ก���:���������
����*G�:=  ���$�
���*���$����!����0
ก&�$���3*1"
��+���"�����&���ก+>=�
.�:ก  ����6$�=�$�1 ��+��
ก���%�6�":= �$&�*(�=�����"�����&�����."��กn� ."�ก6%� �*��&=�ก��.�6���� OQR��:��1���":= ��:%��0"� 
%&���"����:ก
����� 
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��%�:� 8 : 3$1�3��3."���������=��">ก���&�  5>��+��1��������:+��1�0D�ก*���ก�6�-�=������$: �:ก   
 

�:�$���&D��������=��">ก���&�  �./���������:�$�
����OQR��./�%�=��:�0"&ก  ����0
�
���:ก��A��6�"��ก
.
�./�0�
����  �:ก��+�1��� ���6�"�%����.C1�����=���0
���������ก$���
�+��1�0D��+
����&�$���
�
1
  5>��
3�����*��  ก��ก��$�
����"&ก�G61&��:=�6$��J"���ก��ก&1�5�6�� 0�1�"�13�*�� 0�1�:�$* ���  
�����1: *ก&�ก�G:ก��A��6�"�%���$�
���������+���������$�0ก��������%�1�:�$��J"�0
�� 0�13$��&���(
�:��:�����$: �+���&�0*&1�6 ���$: 0�   3"6ก"� �./��� 0�10����=���������กก��A�0���%���.9��ก&�ก��ก&1
�5�6�� 0�1  ����0
$-D�$: �� 0�1�:�$* ���"�
.� ���
���:*&�0*�ก"&� 3"60�1��� ������������� 
�������6�63"6��������%�ก;�6.�6$��*���$: 0� 
��������ก�:��&�0*&1�6 �� 

 

�I�D����	
  �0%���ก�����
� 2 �
���%�  
  

��กก����ก3��+��$���&ก����! �� 3"63J�ก��+�$��3"6����� ($�+.) 
1
�:ก��*���$
����
�A
8����-����������������กOQR�������"6�-�� &�����������&��&�0*&1$�+"� 3  1
* ����*�����"�����:�$-���ก 
ก"��*������6 63�ก 26,400 "
����� 3"6�*� 3 �6 6��1�./�����"����ก*�� 44,100 "
����� 
                                                           

3
 ��%��ก��ก$��ก���>ก���*���0��$�3"6��ก3�����=���
� ����A
8������! �ก��+�$��$���
�OQR��&�1��&�ก&�OQR����*
�  
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"&ก�G6ก����ก3���./��A
8����-�  ก���*�����:�1���"�13�*����A
8 142 ก�!"����+
��"6
.�6��G 25-35 ����  �:ก����ก3��$A��:�A
8$��0�&�ก���&�$��J-
!1 $���%��������:�$A��:"6�-3"6$A��:
�*�ก�0"� !1 �:ก����ก3����1%&ก�A
83"65����������:�$A��:�A
8����-��:�$A��:�*�ก�0"�1
*  5>���6
�:ก���*�����:�1��+
��"6 80 ����  
 �$
����ก��*���A
8����-��&=��:�*�� �* 142 ก�!"���� �6J���%�=��:� 22 ����" �� 8 ������1&��:= 
 �&�0*&1$�-" J��� �..�ก�=�� �."6�- �."6�- , �.������� �.���3% �.3.-�6 �.���3% , �.�*�!1� �.�*�
!1� , �.�*�ก�0"� �.������
  �.�*�ก�0"�  
 �&�0*&1$�+"� J��� �.�+�%�6 �.����6�*� �.ก��3%��%�� �.�&��-�� , �.K"� �.��������$� �.�*�"&� �.
�
��%�� �.��0�$( �.�����0D� �.0�1�0D� , �.%����� �.��0����, �.�6!0�� �.�"���.N 6 �.�"����&� �.��
�&� �.�6�6 
 J"ก�6���:�$���&D+���A
8����-� ���  ก���&1+�1������:�� -�$��OQR�����A
8  ก��ก:1+*������=��
��ก���6�� �=�����E���������o1-�=��0"�ก O�P�3"6�$: ���กก��+�$���A
8$���
�5>���:+��1�0D� �:
�*����;*$-� �6$��J"ก�6��������:�� -����& ��������"�13�*�:�����A
8*���J���   
 ��กก������*G.����G$���
��:��6J�����������&=� 2 30��+�� $�+. .�6��G*���:$���
�+�$��J������
�A
8
. &��������.�ก����.N"6 1,800,000 �-
3"6�������$�+"� 2 .N"6 400,000 �-
  !1 �:ก��.�6��Gก��
$���
�A�� "��+�$��J�������A
8.N"6 1,400,000 �-
    0�ก�A
80�>����:� *+�A�� 
1
����*� 100 �-
$���
�3"
*  
3."*���6�:�A
8$���
�*���J�������ก&� 14,000 +�*�/.N  0���.�6��G 39 +�*����*&�  �&��0�� �*��A>�O�P�
3"6�$: ��:��6��ก*������� ��������������กH 40 ���:�"�1�&=�ก"��*&�ก"�����  0�ก*����K%�6���*"�
ก"��*&� ก;�6ก����ก*������!1 �����ก 20 ���: 
 ก���:�������+��1�0D��&=� 2 OQR��6�"�:����������1
* �A
8����-��&=�  �����
1
*���6�&ก����0
�ก�1ก��
%&'�����$�0ก�������������"�13�*����A
8�������  �&��6����0
$�+"�-$�-"ก"� �./������
���$�0ก���0�&ก� ���3�
���� 
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��%�:� 9 : 3$1��$
��������"��ก��ก��*���$
�����A
8����-��������������.�ก.��� ������"6�- ก&��������
���&� �������6�6 !1 3�*�$
����$�1�
� ��กก���>ก���*���0��6$�3"6��ก3�����=���
�+��
!���ก������$
���� A+B+E+H 
 

�
��
��8(����������#����� �"�	 G �,����� /���ก���"�#,���������# 
 

 !���ก�����$���=���&�1��+
�����$������ก�&�1��&����OQR�������"6�- �&�0*&1$�-"  +
���� &�
�&�0*&1$�+"�3"
*��ก�6�"OQR����*
� �:�������$�����  �&�0*&1$�+"�  �./�!���ก��%&'��+��1�0D��:�A-ก
�$������ก$���&ก����! �� 3"63J�ก��+�$��3"6����� ($�+.) ก�6��*�������4  �./��:ก0�>��
!���ก��+��1�0D��:�����%�=��:� &��&��-
�
� ��ก    !1 �:�-"���!���ก��ก��$�
���&=�0�1���=���
�ก*�� 
51,500 "
�����                                        

!���ก��������
���ก����+�A�� �=���&�1��ก"���6�"���OQR��&�1��&���%�=��:�������"6�- �&�0*&1$�-"   
5>�� �����ก
.���6�" 37 ก�!"���� 
ก"��ก
.���OQR��6*&��ก+���ก�6�6�����  �%����0
���������ก�=���&�
+��1�0D�+�A�� �=���&�J������  3"
*���ก;���A&��ก;��=���&�+��1�0D����ก�:��:A&��ก;�� -� 10 "-ก ��%�=��:� 

                                                           

4
 +
��-"3"6��%  �������กก������$��!���ก���>ก���*���0�6$��%���%&'��$6%�������ก���60*������������ OQR��6�"�����
+��
�   ����$��

!1 $���&ก����! �� 3"63J�ก��+�$��3"6����� ($�+.) ก�6��*�������  G 0
��.�6�����"�ก"���&�0*&1$�+"� ��*&��:� 15 $��0��� 2551     
5>��.�6ก��1
*  2 !���ก�����  ก���>ก�����=���
�!���ก�����$���=���&�1��3"6$�������* �*��$61*ก�:��ก:� *+
��������OQR��6�"          �&�1��&�3"6���*

�   3"6 ก����ก3���� "6��: 1!���ก��ก��$�
����������=��">ก.�ก����3"6�������$�+"� 2                                              
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5,000 
�� ����*G�
��.�ก��� ����""6�- ������"6�- �&�0*&1$�-"  $����:�����./�0�*�� ��� ������ก��.��.lm��
+�������=���&������&% �ก�ก��������:� *+���&�0*&1$�-"3"6��&��&=�0�1  �&=��ก�63ก�����6�" 0�1���  
�=���6�"�:��$$6��1 .6ก��&� $&�*(�=�� 3"6�*��&=��./����!���ก����ก�+
������+���� ��30����������6�"
1
*  

�����
1
*�� 0�ก!���ก��1&�ก"��*�ก�1+>=�����  ก��������:� *+���&�0*&1$�-"3"6��&��:�0"���":= �J-
��
0"� 0�����:*��� ��� &�� �����6��� H�K��� 
.  �����1: *ก&��&�0*&1�6 ���:�
���:���
.��:� *�:ก3"
* 
 

 
��%�:� 10 : 3$1�3�*����=���&�1���:��6+>=�OQR��:�������"6�-3"6%�=��:��*���� 10,000 
���:�������$��0����%���
$�
���"&��=���&�+��1�0D� 
 

���$���=���&��6%�1J����&�0*&1$�-" 
.$-����$����$���%�6  !1 J���%�=��:�������"6�- �������*�
ก�0"� +
������ก�+�
. &��+��&�0*&1$�+"���%�=��:��������&��-�� J���$:�3 ก�-0� 
. &��������*���: � +
��
����3��+���6�"$��$�+"����.�ก��
.$-�������$��0��� 

��กก��*��3J�+��!���ก���&=� �6�:ก���*�����%�����
%�=��:�+��1�0D�.�6��G 10,000 
�� ��
%�=��:�������$��0��� ����*G�
�����31� �
��*&1+��� �
��.P�+*�� �
��������  �%���$�
���./�A&��ก;��=���&�
+��1�0D�0����:���: ก*�� tank farm ����*� 50 "-ก 3��"6"-ก�ก;��=���&��&�"
��"��� �%���ก����:��6$�������
���A�� "�$-����������ก�=���&�+��1�0D��:��6���&���OQR����*
�  5>���6�:���$���=���&���������ก
.���6�"
ก*�� 20 ก�!"�������6�"���*
�  

$����:����+�+&�+��!���ก���:=���  ���!���ก��
1
�:ก��*������"��ก+���$
����J���+�����$��
�=���&�
*
 3 �$
����������*G�&*������&��-��  �%����0
.�6�����:$�*���*���ก���"��ก�$
����  3��ก"&�
���:
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ก���.C1!�ก�$�0
.�6������%�=��:�"6�-3"6$��0�����ก���:����"��ก��ก���./��:��&=�A&��ก;��=���&�+��1
�0D� 0����"��ก�:��6
�����!���ก���&=�!���ก���"  

 
��%�:� 11 : 3$1��$
����ก��*�����$���=���&���ก.�ก���� J����������*�ก�0"��+
�$-��������&��-�� �*�
��: �3"6$��0���  5>������ ���ก���>ก��
1
�.C1����"��ก�0
ก&�.�6������%�=��:�
1
�"��ก��ก��.�6��
%����G(1
*  ����"��ก*��%�=��:�����*G�"�1�������&��-��3"6$:�3 ก�-0��6J��������� ���
� (�$
���� A, A1, 
A2) 3��ก"&�
���:����"��ก*�� �*��6$�
�����$���=���&�0���
��  
 
 �*���$:� �$���&D������&���0����กก���6���13"6
8
0�
A&��=���&�+��1�0D� �>��
���:ก��ก&�%�=��:�
�./�0����
�� A�0��ก&=��&=* �%���.9��ก&��*���$: 0� �:�����ก�1+>=� 3"6�%���"1ก��.��.lm��+�������=���&��:�
�6��ก
.$-������  5>���:�*������./�0�*�� ��� ���ก&�ก��.��.lm��+�������=���&����$���3*1"
��+��
���$����$���%�63"6�6�"$��$�+"����6 6 �*  ��ก�
� ��+
�* ��"!��1 3"6.�6��%�=��
�� *�A:
!0�1���"+�����$����$���%�6 3"6$���3*1"
�� 3 �=��+���6�"$��$�+"�����=����;� �=��ก���  3"6�=��
��1�6$��$-D���6 6�*"�
�����   

!���ก���:=�./�!���ก���:�$����$:� ����ก�����"� $��%3*1"
��+���6�"$��$�+"�� ��� ���  5>��
��
����0���
��ก&����J�������:�
1
�&� 5>��
���-
�ก� -�ก&�ก�6�.x�+����� 3���:�3��Hก;��� .�6�����&�*
.
��
�K%�6��$�+"�3�����.�6�����&=�.�6��� 
��
1
�&�.�6! ��(�1H��ก��ก���:�������
���:��%: ��";ก�
�   
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�,��������ก������ก(�����"�����  �
������������ก��� 
  

�������$�0ก��� ����������:��6�����0"&���ก!���$�
��%�=����%�
��$��0�&�ก��1>�1-1����&=�
�������������3"6�����.�6����+
����&=�!��������$�0ก���0�&ก  !���$�
��%�=�����:�$���&Dก;
1
3ก� !��
3 กก4�5 !��
889�  ��������=��">ก 3"6�6���A
8+�$��$���
�������$��OQR��6�"  �����%�
���&=� 4 
���(.�6ก��$���&D3"
* �������$�0ก���ก;�6��������:�$�1 
 3�
*����ก�����.�6��%����G(0���ก���>ก��J"ก�6�����$���3*1"
��+��!���ก������H  3���6

���:ก��%-1A>��������$�0ก����:��6�����  0"� �*�:%-1�&1���1
* 5=��*�� 
���:3J�ก���&=�����
���$�0ก�����%�=��:�  3����กก��3ก6�� ก;%��6%�0"&ก����:�A-ก.ก.C1*��  �:ก�����: �%�=��:��:��:�*��
�0��6$���ก���&1�&=��������$�0ก�����%�=��:����� 
 0"&ก�����=�3�ก���  ��%�:�.��กIก��G(��������ก$���� ���J"ก���>ก��J"ก�6�����
$���3*1"
��+����������=��">ก.�ก����  %�*���:ก���6��%�=��:��:��:�&ก ��%3"6�*���0��6$���ก��%&'��
�./��������$�0ก�����%�=��:��� ���������"6�- �������6�&� 3"6�������*�ก�0"� �&�0*&1$�-"�����=��:�
A>� 150,000 
��  1&�3J���%�:�3$1�
*
+
��"����:= 
 

 
��%�:� 12 : 3$1�%�=��:����ก���>ก��J"ก�6��$���3*1"
�� (EIA) ก��ก��$�
����������=��">ก.�ก����K�&�
����  �:�ก��0�1%�=��:�����*G������"6�--�6�&� �:��0��6$�ก&�ก��$�
���������$�0ก���  3������ ���K�&�
$��-�G(ก"&�
���:��%�:=.��กI �%���"13���
����%�=��:�   
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 $��0�&�%�=��:����&�0*&1$�+"��&=�  ����&=��:��6�:ก��J"&ก1&��0
�:ก��ก��$�
��!��3 กก4�5
� -
���"�5:   $��%&'�()
1
�:ก��*���
������&��:�.�>ก���>ก��3J�3����3"63J�.I��&��ก��ก��%&'���+�
�����ก��.N�&�-$�+"� �%�����
.�6! ��(��กก4�5E�������   5>���J 3%����.N 2543 %�*��  �:ก��*��3J��:��6
�0
%�=��:�+���������6�6-��������0�����./�%�=��:��:��0��6ก&�ก��%&'���./��+����$�0ก���+��1�0D�  
�����1: *ก&�%�=��:�������$6�1��"�13�*A��ก�D��*G�� (�./�%�=��:��:��0��6ก&�ก��%&'���./�%�=��:�
���$�0ก���0�&ก  1&�3$1���3J���%+
��"����:=  

 
��%�:� 13 : 3$1�%�=��:��:��:�*���0��6$��:��6�./��������$�0ก���  ����������6�6 ��0���� 3"6$6�1� 
��กก���>ก����3J�3����ก��%&'���+������ก��.N�&�-$�+"� !1 ��
.�6! ��(��กก4�5E������� 
 

�������$�0ก����:�ก��"&��6�������กก��%&'��+��1�0D� �./�$����:�$�
���*��0*�10*&��ก&�
.�6�������&�0*&1$�+"�3"6$�-"� �����ก  ������ก��ก;����1:  1&��&=��>��:ก���0
+
��-"� ������ก&1 
3"6
��% � ���:��6%-1A>��������$�0ก���  �./�
.
1
0����:��:�&=�!��3 กก4�5 !��
889� ������� �A
8����-� 
���$���=���&�1��+
�����$����  3���6
���:ก���&=��������$�0ก��� 1&��&=��>�$����A8Q�E�
1
�" *�� �:ก��
�&=��������$�0ก���3�� 3"6%�=��:��:����$���ก;� -��:��� 4 %�=��:����   

- ������0�1�0D� 5>���:�������$�0ก���K"���&=�� -�ก���3"
*   
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- �������6�6 5>���:�:����ก*
���0D� .�6��ก��:���6 �ก�� 3"6�:!��3 กก4�5 !��
889� 
�*��&=��6�:��������=��">ก���&� �&=���� -�ก���3"
* 

- ������$6�1� 5>����.Q����&�ก;�:!�������ก�� �"�13�*A��ก�D��*G�� (� -�3"
* 
- �� ���������"6�--�������6�&� �&�0*&1$�-" 5>��� -�
��
ก"��ก�������.�ก���� 
�&=��:=��%�=��:��������6�6   &��:%�=��:��:�+������&����$�0ก���.C!�������&"
�  (TPI) +��1 2,400 


���:�����*G�
��.|ก �.���&�  �:��� �:ก���>ก��J"ก�6�����$���3*1"
��J���3"
*�&=�3���1���ก�กU��� 
2541 �%���ก��$�
���������$�0ก��� TPI  3��1
* �0���:�����&� TPI .�6$�$��*6"
�"6"�   ����0
!���ก��
1&�ก"��*%&�
.  3��%�=��:�3"6�*��%�
����ก��ก��$�
���������ก; &���� -� !1 �K%�6� ��� ���������ก�1
��������=��">ก���&� 
 

/�����6����
�� ���.�*
-�"��� +�"�,��������ก�����#/ก# 
 

!�"�* ( 0������1�*�0�1�0D� < $6�1� �./� 1 �� 10 !���ก������1�*��:� ADB 0���E������%���
ก��%&'��30������: %�
���0
ก��$�&�$�������ก-
1�ก��:= ����  �� ��
ก����*����*����ก��%&'�������ก��
$��OP�  ���!1�:�5:  ���"�5:  
�  (IMT-GT)  �./����� 300 "
���0�: D$0�&������ก� 0���ก*�� 9,000 "
��
���  �&=��:=ก�����0"*�� -����60*������*�������ก����ก3�� 3"6�6�����ก��$�
��
1
��.N��.�6��G 
2555 

���1�*�1&�ก"��*�:�6 6��� 55 ก�!"����  ���������ก&����"�5: !1 ������:�1���$6�1��:��
��1�����ก 
J����
���&�!ก� �+
�$-� �������"��0� !+�� J����ก"
$������0�1�0D� �&1J���A��0�1�0D�-�&��-��$� 
�ก��  ������
.$-��������$�0ก���K"��  3"6���0"*��:� 43  �-"���!���ก�� 10,055 "
�����    

3"6����� ���ก���>ก��+������&� !55�!� < ���!�!���� ���5&"3��$( ���ก&1 5>���./�����&��:�
.�>ก���:�$��%&'�()
1
*���
��  
1
�:=�*���0��6$�+����1%&ก$���
�3"6%�=��:��:��6�&=��./��+������ก��%����
�:��
���&�!ก� ����"$���&ก+�� ������$6�1�  �&�0*&1$�+"�   5>���:�*���0��6$��:��6�&=��������$�0ก���
�����=��:�  990 
�� !1 .�6ก��1
* %�=��:����$�0ก��� ��%��� ��0���6�"3��3+;�3"63.��-. 
���$�0ก����
��=��+�����$�0ก��� �� ��( $A���>ก�� �-� (O|ก����ON���3����� $A��:+�$��$���
� 
�"&�$���
� 0��� Inland Container Depot (ICD) E��ก��ก���0
���ก�����ก������ 3"6���$�0ก�����0��3"6
���ก����"�" �./��
� 

3�
!���ก���:=�6�./�.�6! ��(� ��� ��� ��ก���6�� �*��3��&1+��ก��+�$����A��ก�D��
*G�� ( ��ก������0�1�0D�
. &�������$6�1�3"6�� 31�
� -���"�5:   3��!���ก���:=ก;$����A$6�
���0

�0;�A>� ก��*��!���$�
��%�=��:����1
��ก��+�$��+���&�0*&1$�+"�  �%�������&�ก��+ � �&*+��
���$�0ก����������  �./�0"&ก����:ก��=��:��:=�&1*��  $�+"�ก��"&��6ก
�*$-�ก���./��&�0*&1���$�0ก���
0�&ก �����1: *ก&��&�0*&1�6 �� 
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��%�:� 14 : 3$1�3J��:��$
���� !�"�* ( ���1�*�0�1�0D�-$6�1� 5>���./����1�*�ก&=��&=* 3"6�:ก��
ก��0�1�0
%�=��:�0�-��
���&�!ก��:�������$6�1� �./�%�=��:��0��6$���ก���./��������$�0ก���3"6$A��:
+�A�� $���
�     
 

���%���,ก���6+�"/���DDE��,ก���6�"#������  �����,����������
���� 
  

������$6�
� 
�  �&�0*&1$�+"��./��������� 31�+���&�0*&1$�+"��:� &���1�$��-�G(
.1
* 
��&% �ก�.P�
�
 3"6�./��
��=��+��3���=����%�  .�6��ก�$�*��0D��:���:%���$*� ��3"6$*�J"
�
  70% 
�&�A����$����$"��  �:*�A:�:*���:�$�A6 %��%: � 3"6 >1�&������$�E���   
 3����
J�*1��+��������$6�
� 
�   �:A���0������*���ก3A� &�� -����&=��:�����+
����=�  �./�A���0��
��G��%1:�:���: ก*��3�����
51( 5>���:��G��%1:�0
�*���
��$-�ก*��A���0��"�ก
��(  ����0
ก��
889�OP� J"��
30��.�6���
�  (ก8J.) �&��
���:��6�.C1�0����A���0��30���:=�0

1
  3"6�����$-�ก��$�
��!��
889����
.
������� 
 ก���.C1�0����A���0���:��:��
���:ก�� 
� �������ก��ก%�=��:�
.�&=����:�30���0��A>� 2 ����" ���
����"$6�
� 
� 3"6����"����%�  $�
���*���1��1�
��3ก�.�6��������*���กก"��*���  

�$
�������

1�*�$6�1�-

0�1�0D� 

�
���&�!ก�5>��

�0��6ก&�ก���./�

����

���$�0ก��� 

990 
�� 
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- ����"$6�
� 
�  .�6ก��1
*  9 0�-��
�� .�6��ก�.�6��G 11,000  ��  
- ����"����%� .�6ก��1
*  8 0�-��
�� .�6��ก�.�6��G 9,000  ��   
�*��&=�$������"  0�ก�
���:ก����ก�&=�0�1  �6$�
���*���1��1�
��3ก�.�6����A>� 17 0�-��
�� 

����*�A>� 20,000 �� 
 

 
��%�:� 15 :  3$1�!��
889�"�ก
��(3"6�0����"�ก
��(�:�������3�����6 �&�0*&1"��.��  5>��A���./�

����: �$���&D+��ก���&1ก���0����A���0��3"6!��
889�A���0��+��.�6���
�   3"6!��
889�"�ก
��(
$6�
� 
� ก;�6�:"&ก�G6+��!��
889�3"6�0����"�ก
��(��"&ก�G6�1: *ก&� 

 
��.N 2552 .N30��ก��.Q1O�P�!���ก���:=+��ก��
889�OP� J"��30��.�6���
� 0"&���ก�:�%&��ก;�� -�

���  �:ก���
���&ก*���ก����ก�0�*�� �"& $�+"��������( *�� ��+�.Q����: �%����>ก������*���+
���J"1:
J"�$: 3"6�-.3��ก��%&'��30"��"�ก
��($6�
� 
� �:��0��6$�  J"ก���>ก��5 �6���&1���*�� ��*�
��$�*�
�0D�
���0;�1
* ก&�ก������0����A���0��  �:ก�&=� &�
�� ���0
ก��
889�OP� J"��30��.�6���
� (ก8J.)

                                                           

5 �����	
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���ก���>ก��%�=��:�3"6�&1ก��3"ก�.":� ���: ��-
ก&���*�
��1
*  �%��6��*�
�������*�� ก8J.�6
�� ���3��
ก���>ก�������&=�  3������0*&��6ก��$�
���0

1
�������!1 
��$����$: �+��.�6���� 

��กJ"ก���>ก��%�*�����A���:�$���&D+����*�
��ก;��� A
��
����� ���0
�:ก������0����A���0��
3"6!��
889�A���0��3"
*  ��*�
����%�=��:�����0�����6 
� 
.� -��:�
0� �6� -�ก&�� ���
� �6�:�:�1�����ก��
0���
�� ��$�$A���&=�*&1 �&$ �1 3"6ก�!��(($�$��)�6�./�� ���
� $� $&�%&�E(+������������6"��$"� 
0����."�� �*��&=��"%�������ก���6�0�����:��0����3����60���
�� 

%�=��:�������$6�
� 
�  �&�0*&1$�+"� �./��������:��:�*���./������:�$�13"6 &���$��%�*���./�
E�������$-�$�1���&�0*&1$�+"�  �:�*����1�$��-�G(+����&% �ก�.P�
�
 $&�*(.P� �=���$ ��ก�����$��E�� 
3"61���:��:�*����1� �:ก�&=��:*�A:�:*��+��.�6������%�=��:��:�� -�� ����:�*��$�+3"6%��%: �  3�
�6
��
�����*  3���� 
1
��ก$*� ��3"6$*�J"
�
  �*��&=�*�A:�:*���:��ก�=�ก-"ก&���������&=�   ����60�1
.0�ก�:
ก���*�����:�1��3"6 
� �+���ก��ก������1��  ����*������1�� ����*������1ก;
������13��
1
����   

�:�$���&Dก*���&=�  %"&����
889��:�J"��
1
��ก�*���$: $"6+����$6�
� 
�  ��$�+"� �� 6"��&=�  
3�
����3"
*ก;�%���ก��$�
��J"ก��
�+�� ก8J.3"6$��+� ���������$�0ก����:�ก��"&��6%&'��+>=��� �*��&=�
$��+$ ���"�5: ���
.  
��
1
��* �ก�=�0������� ������ J-
�$: $"6� -�����
.3��� ����1 

 

/��I������9ก+�"������ก������9ก����"/�� 
   

ก��ก��$�
��!��A"��3���0";ก$��0�&����$�0ก����0";ก�
��=�� ก"���=�� ."� �=���&=� �./�!���ก��
+��1�0D�+��.�6���
�   �:�������$�0ก���% � ��J"&ก1&��0
�ก�1+>=��:��1�:�0�>����.�6���
�   +��*
ก��$�
��!��������$�0ก����0";ก�
��=��ก�6�� 
.��0"� �&�0*&1  
��*��.�6�*��:�:+&�E( ���%� 
�����:E������ �&�����: $�+"�  !1 %�=��:�ก��$�
���&=��
��� -�����6�"�����&=�  �%��6�
��ก�����������ก��
+�3���0";ก A���0�� 3"60��.-�����
��ก�6�*�ก��A"���0";ก   
 ��ก+
��-"�:��:ก������$�����*�:����$�� LJ"ก���>ก��(����$�1�
� )+��!���ก���>ก��ก��-.3��
3"6�*���0��6$���ก��%&'�����$�0ก����0";ก3"6�0";กก"
�� ��� &�� ��M6 �:+
��-"�:����$������ 

- .�6���
� �:�*������./��
���:!�����A"���0";ก �%��6�:ก������+
��0";ก�./��-"���.N"6 5 
3$�"
����� �./��:�$�������ก�=���&�  !1 �:ก������+
��0";ก��ก����.�6���.N"6 8 "
���&�
%�=��:��:��:�*���0��6$����ก��ก��$�
�����$�0ก����0";ก�:ก���>ก���.�: ���: � 2 %�=��:���� �.
30"�$��0( �.�&�����: 3"6 �.�6!�1 �.$�+"�   
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- $��0�&����$�0ก����0";ก�
��=���:��6$�
���&=�  �:ก��"&�ก��J"��.N"6 5 "
���&�  �
���:ก������+
�
*&�A�1����� ����+
�3���0";ก.N"6 8.5 "
���&���ก��$����": 3"6���5�"�
� "6 60:40 ���"��1&�  
����+
�A���0��.N"6 4 "
���&���ก��$����":   3"6��
0��.-�.N"6 3 "
���&���ก30"��J"����
.�6��� 

- 
��*���6$�
���:��:��1  ���$�0ก����0";ก�
��ก��%�=��:�+��1 8,000 
��  %�=��:�$��0�&�
���$�0ก����0";ก�
��=��3"6���$�0ก������������  �
���:!��
889�+�������+��1 300 MW 
�
����
�����1*&�"6 100,000 "�.����/*&�(�K%�6�0";ก�
��=��) �
���:ก��$�
����������%���ก��+�
A�� *&�A�1��  �
���:ก��$�
��+ � A���0
�./� 4 ����������%���ก��+�$��   

- ก����
%�=��:� 8,000 
���&=�  ����./�
.
1
�� 3 �-.3����� ก���&15�=�0����*�����:�1������ OQR�  
0�ก
��
1
ก;������*�E:ก��A��6�"+��1 8,000 
���%���$�
��!�����ก;
1
  0��������
�-.3��
J$�����&=��&=���OQR�3"6ก��A��6�" 

- $��0�&���������&=�  �6�:ก��$�
���������ก"���6�"0�����กOQR� 18.2 ก�!"����  ���������1
* 
$6%��+��1 4 �"�  �:�+����ก&��"��� �*�:ก 16.2 ก�!"����ก"���6�"���1
������0���+��
�������  �%����&ก�������=��
*
 

- ��������ก�
���:ก����
�=����1����*���ก���.�6��G 42 "
��"-ก���ก(����/.N    �>��
���:ก��
��1�&=�$A��:$-��=����ก�6�"$��$�+"� $���=��J������ �* 18 ก�!"����
. &�����)  5>��3�����
*���6�ก�1$��*6ก��3 ����
�=��ก&�����ก���� ���3�����  3"6��ก+
��-"+��!���ก��$-��=��
�".�6��������6!�1 %�*���:ก��+�13�"��=���� .N�K":�  11.83 "
��"-ก���ก(����� -�3"
* 
.QD0�ก��3 ���=����1�6�./�.QD0�$���&D+�������6!�1�:�0�&ก0��*�  3"6�:0����:���*���:���

�������$-��=����ก�"���".�6����0

0"���+
��:����63 ���=����ก!��������$�0ก���+��1
�0D��:��:!��$-��=��+��1�$
�J���-� (ก"�� 1 ����
1
� ���
� 
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��%�:� 16:  3$1�J&�%�=��:�ก��ก��$�
���������$�0ก����0";ก 8,000 
�� 3"6�������+�$���0";ก3"6A���0�� 
%�
���+����ก&��"������6�" 3"6$A��:$-��=��3"6���$���=����1��1�6�"$��$�+"��� &�����)  5>��A
�0�ก
��
$����A�&1ก���:�1������*G�� OQR�
1
  ����"��ก��ก��A��6�"ก; &�A��*����
����ก��"���� 
 

� ���
�ก;���  �%���"1J"ก�6�����$���3*1"
�� ���� ���ก���>ก��
1
ก��0�1�0
�:%�=��:�ก&���
�60*����������$�0ก����0";ก3"6�����ก*
�� 2 ก�!"���� 3"6�6�:ก��$�
��ก��3%��
�
�
$-�+��1ก*
��
��กก*�� 50 ����     3"6�:ก���&1�6��ก��"1J"ก�6����������1&��:=   
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1. ก��$�
���6!�1������0��  �%�������&�ก���ก�1+>=�+���������$�0ก���   �6�:ก��$�
���6!�1
������0�� �./�ก���&1J&�������0����%�=��:� 10 �����ก�!"����  �%�������&�ก���%���.�6��ก��:�
 
� A����+
���������  !1 �:ก��.�6��Gก��*�� ��ก.�6��ก�����*� 67,000 ��+���������6
!�1��.Q����&�  �6�:.�6��ก��%����./� 131,000 �����:ก 30 .N+
��0�
� 

2. ก��$���$���ก���":= �ก�
����6��.C1 J"ก�6��$���&D�6����0
ก���":= �ก�
�+����*�
���:.QD0�
� ���3����� �%��6�=���6�"�6.��.lm��
.1
* ���A���0��3"6+
��$: ��ก�������$�0ก���  
�>��:+
��$����กJ-
���ก���>ก���:��6�0
�:ก��$���$���ก���":= �ก�
����6��.C1�13�� 5>���:
�
����$-�ก*����ก 

3. ก���&=��-� (����������ก"ก���ก���   �%��6ก���ก�1+>=�+������   ���$��J"ก�6��������
�ก��� !1 �K%�6��+
�*�&=�  ���!���ก���63ก

+J"ก�6��1
* ก���&=��-� (��������&ก�ก"
ก���ก��� ก�����ก�� �
�K��!��$: 3"6ก��$���$���ก��J"��+
�*�����: ( �0
�����
1
.N"6 2 ��&=�  
5>���./�$����:��*����� ��� ���0�ก
���:ก��$�
��!��A"���0";ก  3��������:�������$�0ก���+��1
�0D������:=�:��6�.":� ��6!�1��ก��+
�*3"6��ก�
�
.�./����$�0ก���3"
*  3���6
���:
0"&ก.�6ก&��" *��  ����ก����6� -�
1
����ก"���"%���:���ก��  3"6�6
���:.QD0�ก��+�1
3�"��=�� 

4. ก��$���$���ก����� �1J"���&G�(�����3"6!��$�� (   5>��
���-
*���6�:�����%&ก��%�=��:��:�
.��.lm��3"6�"%�� 

��*�6!�1 &�����+
��-"�:��6�ก�1+>=��
� ��ก  ���6!�1�6�&1$���������+�������� ���
�  
*�A:.�6��%�=��:� ���$��$-D��กก��+�A���A���0��3"63���0";ก�&=�*&��&=����  *�A:ก���":= �ก�
�3"6��+
�*�6
� -���*�ก&����$�0ก����0";ก�:��:�"%��$-�
1
����0���   

 ��������J�*ก�*�ก&�!���ก�����$���=���&�3"6�"&��=���&��:�������$��0��� ก��+�1���6�=���&��ก"
OQR�
$���%�6+������&���*��$��"  ���$����$���%�6�:��./��-�+
�*�-��=��+����$�+"��&=�3���1:�3"6.Q����&�  
�6�./�%�=��:����$�0ก���0�&ก%�=��:��0��+��.�6���
� ���
.� ���3����� 
 

����������"�8(���� �,������� .���������&,2.��"�� 
 

����&� ��*��$��" (.�6���
� ) ���ก&1 ก���&=���.N 2546 �./�����&���$&�ก&1+������&� ��$��" 
������(�: 5>���:$���&ก����0D�� -���"��1�� 
1
�&�ก���+
���%&'��E��ก��ก��+�1���6.C!���": ������*
�   
�:���1������ก����ก�� OQR����$&�.���3."��"+�:�G5/43 5>�������"���� OQR��&�0*&1$�+"�-
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�����:E������-$����U�(E��: !1 .Q����&��:3���+�1���6.C!���": ����6�"0�����กOQR�������$���%�6
.�6��G 30 ก�!"����  7 

����&���*��$��"�����J"���=���&���ก%�=��:� "����� A" ���1���E&�*��� 2551 !1 3���J"��!$� �
�:0"��J"���*� 6 0"�� $����AJ"���=���&�1���:��:�*��0��1����+
��$-�.�6��G 7,000 ���(��"/*&� $�����
�0
ก&�J-
�&�5�=��=���&��������&� .��.���ก&1 (�0���) �%���$�����
. &�����.�6���  ��������ก�=���&��:��:�*��
0��1$-� 
���:!��ก"&����.�6����:�$����Aก"&���=���&�1��1&�ก"��*
1
 $�*�%�=��:� "$�+"� B" +�1���6�*� 3 
0"�� 3��
��%��=���&�  

����������ก��J"��.C!���": ��&=�  3���J"��!$� ��6�
��+�10"���=����=��:ก����*� 2 0"��1
*   
3����.Q����&� &�
�����60"���=����=�  3��$���=����=��$�����
.����&1�:�$���!.�(3��  �������&� �� &�*��������
+
��ก"��:������=���
� &�
���
�����60"���=����=�ก;
1
 3"6 �� &�*��
���:ก���&�*
0".��.lm��+���=����=�3"6
�=���&���ก$-��6�" 8  $�*��*��ก&�*"������$��.�����กก��+�1���6�&=�   &��
��ก��ก��1-3"� ���"6��: 1 
�%����0
3����*���6
���:ก��."�� �./��=����=�$-��=���6�" 

+G6�:=����&���*��$��"  
1
�����+�1���60"����ก3���J"���&*��� �:�
1
1������ก��*��3���J"��
*

��: ��
� 3"
* ��
����"����$�
��3���J"��� -��:� 1,000 "
����� ��1*���6���60"��.�6��G 6-8 0"�� ��ก�&=�
�6�����+�1���6��ก3���J"����D����(���
.  

 
 
 
 
 

                                                           

7
 +
��-"��ก website +������&���*��$��" (.�6���
� ) ���ก&1  http://www.nucoastal.co.th/WebSite/thainewindex.html 

8  �����	
�ก website 7()8�I1 50,����-�, ^ (��'_/4,6�3J�	`14<'��'B32C	'1)B	 A��,-�Y 3'�	�J0<' กก.J(,
H1-/B
�)
/<D��0/a  BACHF(-,0/12& 20 Fb=
4ก�C/ 2009   http://www.prachatai.com/journal/2009/11/26687 
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��%�:� 17  : 3$1���%�*�%�=��:�$&�.���ก��+�1���6.C!���": � ��1�� OQR��&�0*&1$�+"�3"6�&�0*&1
�����:E������+������&���*��$��"(.�6���
� )���ก&1  3"60"��+�1���6���6�" 
 
 � ���
�ก;��� 0"&���ก�:�������:ก��+�1���6.C!���": �  ก;%�*���:ก��.��.lm��+���=���&��ก"
3���+�1
���6  �:ก��"1����*�"�+��$&�*(�=���� OQR������*
�   $��J"����:*��+����*.�6��%�=��
��  �:ก�&=� &��:$��
0��1$:1���./�ก
��ก�6�� �&*��3�*ก*
���������� OQR�3"6�� 0�1+������������� ������$��0��� 3"6
������$���%�6  �&�0*&1$�+"�  5>��A>�3�
*���������&��6��ก��3A"�+��**�� 
���:ก���&�*
0"+���=���&�1��  
3�����A��$���&D�:�����%�=��:� &�
��
1
�&����������  3"
*����$��0��1�:��./��=���&�1���:=����ก
0� 0�ก

��
1
����ก3���+�1���6�=���&�   
 ก��%&'�����$�0ก����
���*��-�ก&�ก���&ก����&% �ก�3"6��G��%�:*��+��.�6������
�+��A���  
����&�+
���������&�$&�.��� ��*����ก&�����&�+
������+��
� � ��� .��.  ��� �%: �$&�.����0
ก&�
�&���" ��=�.QD0�$���3*1"
���0
"-ก0"��  3"6�&�J"ก��
��0���"�+
�����&� ��
�3"
*0���ก&�ก���
���&�
���$�0ก���3���:=  �./����A���0D��:���*$�+"��
������0
1&�H 
 
 
 
 
 
 

3���!$� �

3�����D����( 

3����&*���

������$���%�6 

3."�$&�.���
�����*
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�"##�"#���8(����ก��,�-�"�" �&%��.�� 
 

!���ก���6���6�� �=��."&ก."�� < �6�6 �&�0*&1$�+"�9 �./�!���ก����3J�3����"����=����%� 
< ���*: 5>��ก���".�6���J"&ก1&���� �������������� ��
ก���&1�
����ก����%�=��:�  �%��6�:���A���:��./�
+
��"��3�"���$���&D��%�=��:���� !���ก���6�� �=��1&�ก"��*�:���������%���ก���6�� �=������0��� 0����%���
ก��J&��=��
.����&�ก��%&'�����$�0ก����:��6�ก�1+>=�����������&��ก"
ก&�3�� 

!���ก���&=�� -��:�"����=���"�����*: 5>���ก�1��ก����ก�+�$&�ก�"��:�: �:�*�� �*�&=�$�=�.�6��G 80 
ก�!"���� �./��"��$� 0"&ก��"����=�� �"�����*:�6
0"��ก�����

.����0���J������������*:3"6������
�6�6 ���."� �"��3 ก��ก�./� 2 $�  $� �:�0�>��3 ก�:��
�����"
� �������6�63"
*
0""��6�"�:��
��
.�ก���$6ก�� ����"$6ก�� �:ก$� 0�>���6
0"�+
��"�����&�3"6"��6�"�:��
��.�ก��� ���&�  

�.9�0�� 0"&ก+��!���ก���6���6�� �=��."&ก."�� < �6�6 �:0&*��+��!���ก��� -��:�ก��$�
��
�+�����:��
����.�&� ������*G%�=��:���� ��30�������+��=���
�� !1 �
��ก��������.QD0����ก�& ���+�
�������6�63"6���������*: 5>�������"��%�=��:��.9�0��  127 ��.ก�. 0��� 79,375 
�� 3"6%�=��:�!1 ����:�
�ก:� *+
���:ก.�6��G 285 ��.ก�. 0��� 178,125 
�� �*��./�%�=��:��&=�0�1 412 ��.ก�. 3"6�%���%&'���6��
�ก;�ก&ก�=��3"6�6��$���=���%���ก����
�=��5>����*  ก�61&�ก��J"��3"6�������ก�������:%+��.�6����  
!1 ��
�6 6�*"�ก��ก��$�
��!���ก���&=�$�=� 7 .N ( .N %.�. 2551 < .N %.�. 2557 ) 

"&ก�G6+��!���ก��.�6ก��1
* 1&��:= 
- ก��.�&�.���3"6+�1�"�� 7 $�  
- +�1�"��J&��=��3"6�"������������*� 4 30�� 
- �����=�A��3"6ก��$�
��.�6�-�6�� �=���0���%����%���.�6$��E���%ก���6�� �=�� 7 30�� 
- ก��.�&�.����6���6�� �=������H��%�=��:� 
- ���ก��$�
��.�&�.���.�6�-�6�� �=��."&ก."�� 
- �����1�&=��6��!������ 
�./��:��-
ก&���%�=��:�*�� !���ก��1&�ก"��*3�
����$�
��+>=����%���ก���&1ก���=����1��$�&�$���

������$�0ก����������  �%��6�6�:�������$�0ก����ก�1+>=����������6�6  3"60�ก
���:30"���=����1
� ����%: �%�  ���$��J"�$: ���ก��"����+��������$�0ก������6 6 �*  $�*�ก��.9��ก&�����ก�&  ก��
�&1ก���=���%���ก���ก����&=�  �./��%: �J"%"� 
1
�:�$�1�
� 3"
*.�6������%�=��:�����6
��
1
�&�.�6! ��(
�1H�"   �:ก�&=�����%�=��:���1*�� !���ก��1&�ก"��*
�����.9��ก&�����ก�& 
1
 �%��6.����GO�3"6�=����ก�+�

                                                           

9+
��-"3"6��%��กwebsite +��!���ก���6���6�� �=��."&ก."�� < �6�6 ก���".�6���  

http://construct11.org/jana.html 
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�=����*��0D���%�=��:������
��ก.N 

 
��%�:� 18 : 3$1���%�*�3J�ก���&1ก���6���6�� �=��3"6J&��=�����������6�6-���*:  5>�������*���./�
0�>����ก�����: �ก���%�������=����1������&�ก��%&'�����$�0ก���������� 
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ก���������%����,8��,�����+��0����� 10 
 

�� 0�1ก�����1��ก ��� 3���=���:�
0"��ก$-��6�" �"���%&1%��0
��� �&=���"����
.����� OQR� ��: �
�&*�./��� 0�1 (beach) ���30��ก���&*�./� 0�1��� +���OQR� (Coastal Barrier) �./�3�*.ก.9��3J��1��
1
���� 
1
3ก� 30"����: .�ก�"��$6ก�� .�ก�"�����&� 30"�$����� �6�"$��$�+"� 30"�
�6"��%�ก  �./��
�  

�� OQR����*
� �����
���"��� �� OQR����E�*�$-.Q����:-$�+"�-�����:E������ �:�*�� �*
���������.�6��G 600 ก.�.  ���&�0*&1$�+"��:�� 0�1 �*A>� 160 ก�!"����  $A��ก��G(ก��%&��"� +��
0�1���  3"6�� OQR�$�+"�� -���+&=�*��&�� .Q����&��� 0�13"6�� OQR�$�+"� A-กก&1�5�6���3����กก*�� 40 
ก�!"���� 3"6�:��0"��"
*�� -���$��*6*�กo�� ��������ก$�1�"+���6ก����� $-D�$: 
.� ���A�*� 

 $��0��$���&D�:�$�1�:�����0
�ก�1ก��ก&1�5�6�� 0�1� ������3�����  ก��$�
��$���ก��$�
��������*G
�� 0�1!1 �K%�6�+����ก&=��6ก��.�ก�"��  �%���"1ก���ก�1$&�1��.�ก�"�� ����0
�ก�1ก��+&1+*��ก��
��"�����&*���E�������+�����   $��J"�0
��� $6$�1
����
���+���+���� 3"6�ก�1ก��ก&1�5�6%&��"� 
+���� 0�11
�����+
��  ������:ก��ก&1�5�6  ก����
����ก;ก��$�
���+������=�0���%����+
�
.  ก;$��J"�0
�ก�1ก��
ก&1�5�6�%���������%�=��:�+
����: ����
.����� H   

�+��������6�"�./�J-
�
� �:�$���&D����0
0�1��� 3"6�� OQR�%&��"�   �+����ก&���� 3"6�"�������0

$�1�".����G��� �$: 0� � ���K&�%"&�  �+��������6�"3"6ก��3%��� OQR�
1
�.":� ��������"�������0
0�1
��� 3"6�� OQR�A-กก&1�5�6���3��    

 

                                                           

10
 +
��-"��ก ก������$�������� J"ก�6����กก��ก��$�
���+��������6�"���ก��%&��"� +��0�1��� 3"6�� OQR�$�+"�  ��. 1�. $��-�G(  %�%����

%��(  �����*&��:�  5 $��0��� 2553  
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��%�:� 19 : 3$1���%A�� ���1�*��: �+��ก��%&'���:�1�� ����� %.�.2538 3$1��0
�0;�%�=��:��� 0�1 �.
$6ก�� �.�6�6 �.$�+"� ก����:ก��$�
���+����ก&���� 3"6�"�������*G.�ก�"��$6ก�� �� 0�1�:$��%
$��-�G(�.NR �
.1
* ��G�������กH1
������� %.�.2544 �� 0"&��:ก��$�
���+����ก&���� ����*G.�ก�"����
�&� $��J"�0
�ก�1ก��ก&1�5�6� ������3���������0���+���+����11 
 

����: �$���&D�:��ก�1��กก��ก&1�5�6�� 0�1�:�$���&D+���&�0*&1$�+"����1:�
1
3ก�   
- ก��%&��"� +��E���$A��0�1��� 3ก
*  5>���./�J"ก�6����กก��ก��$�
����������=��">ก

$�+"�  �:�.C1.�ก�6�"$��$�+"�3"6�:ก��$�
��+����ก&=���� ���30"�$�����  ����0
��� 
$6$����30"�$����� 3��OQR����+
�����0�1��� 3ก
*A-กก&1�5�6� ������3�� 

- ก��$�
�����������&1����$: �ก
��$
� 3"6ก��ก��$�
���+�������0�1�-.�&*T 3 �&*���0�1�ก
��$
���
.N 2545  
1
����0
�ก�1ก��ก&1�5�60�1�"��&��(A>�$��0"�   

- �� OQR��6�"$�+"��.�6�6-�.�����$�+"� �*�� �* 60 ก.�. !1 �:ก��ก&1�5�60�1��� 3"6
�� OQR�����"���&���%&��"� ">กก*�� 70 �.��.N 2547 3"6ก��ก&1�5�6"����A>��� OQR��
��
�ก�63�
* ����������� �&�0*&1$�+"���.N 2552   �&�����������กก��$�
���+����ก&���� .�ก
�"�����&� 3"6ก��$�
���+����0����=����3�*�� 0�1���&� 

- ก��ก&1�5�60�1��� 3"6�� OQR�$6ก��  �&�����������กก��$�
���+����ก&=���� .�ก�"��
$6ก��  3"6ก��0����=�����6�"��.N 2545  $��J"�0
�� OQR����!�� ����"$6ก��%&��"� ">ก
ก*�� 100 ���� 3"6"�ก"��
��$�=�$�1 

 
���3J����!���ก��+��ก����
������.Q����&�  
1
�:ก���>ก��3"6ก���&1$����.�6��G�%���

3ก
.QD0��� 0�1A-กก&1�5�6  1
* ก��$�
���+������=�0������*G����6�"�"�13�*�� 0�1�&=�3���&�0*&1
���E�*�$
.��A>��&�0*&1$����U�(E��:  5>�������"���� OQR��� 0�1���&�0*&1$�+"��"�13�*�&=�3��
��������%�
.��A>��������6!�1  3"6�6$��J"���ก���.":� ��-.
.+���� 0�1�:��:0�1��� ก*
�� 
$* ���  
.�./��� 0�1�:��:ก��3%�ก
��0���./��+����ก&��"����"�13�* �./��&������1���$� �� 3"6�./�
ก��$-D�$: E�������+��0�1��� 3"6�*���./��� 0�1� ����:��������: ก�����
1
 

 

                                                           

11    
2<
0*J�6�(K(0780/B84'/EC*�C-V��2ก85�U&/	.Hก�,4กbJ5�>F0'  
�ก 
http://www.manager.co.th/local/viewNews.aspx?NewsID=9510000064735 
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��%�:� 20 :  3$1��� 0�1�&�0*&1�6 �� �:��:ก��$�
���+������=�0���%���.9��ก&�ก��ก&1�5�6�� 0�1  ����0
�ก�1
ก��$6$�+��+����� �:�J�1E������� �� 0�1�:�$* ���ก"� �./�0�1�:��:�-.����.�60"�1����-.�:�
.��กI  5>���:ก
�����  �� 0�1$�+"��"�13�* 160 ก�!"�����6�:�-.����0�
����1: *ก&� 
 

�"����#�����  �%8���,� �ก��ก+�"��%���/���12 
�6�"$��$�+"��./��6�"$���:��:�6�����*��:�5&�5
�� �&=� 3 �=������=����1 �=��ก��� 3"6�=����;� "���

�=���6�"$��$�+"� �:�
�������E��������:��:%�=��:� 8,727 ��.ก�. �:�����&� �� ก*�� 1.8 "
���� �� 3 
�&�0*&1��� $�+"� %&�"��3"6�����:E������ ��%�=��:�"����=���:= &��:%&�E�($&�*(�:�0"�ก0"�  �:%&�E�(."� 465
���1 $&�*(
���:ก�61-$&�0"&� 193���1 $&�*(�:ก�61-ก$&�0"&� 222���1 3%"��(��� 211���1   
 �:*��+��J-
������6�"$��$�+"��:J"���&G�(�*"�*� (GDP)141,324 "
�����  �� 
1
.�6��ก�
���0&*���.N�K":� .�6��G 75,000 ���   ��ก���:%3"6J"J"���:�0"�ก0"� ���� 

- %�=��:�."-ก ��%��� 2,010,044 
�� �:J"J"��.N"6  445,240 �&�   
- %�=��:���+
�* 668,229 
��  �:J"J"��.N"6 321,406 �&�   
- ก���%�6�":= ��� OQR�(ก�
��6�") 35,000 
�� �:J"J"��.N"6  4,200 "
�����  
- ก��.�6��%�=��
�����6�"$��.N"6 200 "
�����  
-  !��������$�0ก����0D��";ก��%�=��:�����*� 1,965 !����� ����&�3����� 77,255 ��   
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 +
��-"��ก������ก��%&'��"����=���6�"$��$�+"� ��ก�� �o�E��  1*�$�*��G(  �&ก%&'����ก���(ก�%&'����ก����%�=��:� 

J-
�>ก���ก�6��1$A��ก��G(�*���.":� �3."�+���6�"$��$�+"��� �*��� 
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- �:30"��������:� *���E�������3"630"��������:� *���!���G3"6��".*&'�E��� 172 30��   
�*���$����!���+���6�"$��$�+"��&=�  $6�
��
1
�&1�����ก����*��$ก.�ก+���=�� (BOD) 
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